lsrocu NUMBER PLAN
INEW _ |[PW. | NO | DESCRIPTION

"CONTINUOUS JOINT BAR (80025)

BASE PIECE-FIBRE
HEAD PIECE-FIBRE
END POST - FIBRE
WASHER PLATE - FIBRE

NUMBER |QTY.

STOCK NUMBER
NEW P.N.

CONTINUOUS JOINT BAR (80025)
BASE PIECE -FIBRE

HEAD PIECE-FIBRE

END POST -FIBRE

WASHER PLATE - FIBRE
BUSHING - FIBRE

bEscapTion F__

WASHER PLATE -STEEL (STYLE A)

WASHER PLATE -STEEL (STYLE B)

1DIA.OVAL NECK TRACK BOLT X 6-3/8"L6. C/W SQ. NUT
SPRING WASHER FOR 1% DIA BOLT

ABRASION PLATE

8 | WASHER PLATE-STEEL |
1% DIA OVAL NECK TRACK BOLT X 6-3/8" C/W SQ.NUT trs BlY/3
G

(6 HOLE)

GTS31Y3
$-1301
75-0502

TS-B30I
75-0502

SPRING WASHER FOR 1" DIA. BOLT
ABRASION PLATE

=
Swo~muou~—|°

R AR E—NON

|
2
3
4
5
6 | BUSHING - FIBRE
a
9
10
"

LU T ;.—NNNB

STOCK NUMBER [ITEM PLAN
PW.

NEW DESCRIPTION
CONTINUOUS JOINT BAR (94501)
BASE PIECE - FIBRE
HEAD PIECE-FIBRE
END POST - FIBRE
WASHER PLATE - FIBRE
BUSHING - FIBRE
WASHER PLATE -STEEL (STYLE A)
WASHER PLATE-STEEL (STYLE B)
1% DIA.OVAL NECK TRACK BOLT X 7" L6. C/W SQ. WT
SPRING WASHER FOR 1" DIA. BOLT
ABRASION PLATE

IIS*RE
RAIL

STANDARD TIE SPACIN

GTs-319/4
GTS-301
(TS-0502

STANDARD TIE PLATE

TWO ABRASION PLATES
PER JOINT

- =
S See~Nanaun =g
»ma-;.--la

— ITEMS 7 AND 8 (WASHER PLATES): mlige HOLES ARE ROUND-OVAL-ROUND

HOLES ARE OVAL - ROUND-OVAL
(ITEMS TAND 8 SIMILAR ON FOUR HOLE JOINTS)

TIE SPACING C?NTINUOUS INSULATED JOINT

STOCK NUMBER (TEM END POST BETWEEN TIES)

INEW__ PN NO
t

PLAN
DESCRIPTION ~ NUMBER
CONTINUOUS JOINT BAR (34511
BASE PIECE- FIBRE l
HEAD PIECE-FIBRE i
END POST- FIBRE
WASHER PLATE - FIBRE "
BUSHING  FIBRE ;
WASHER PLATE-STEEL (STYLE A) ‘
WASHER PLATE-STEEL (STYLE B) |
I /8% DIA OVAL NECK TRACK BOLTX T°LG.C/W SO.NUT  GTS<320/8
1301
E%-osoz

132% RE
RAIL

SPACING
JOINT 29"

STANDARD TIE PLATES

ALL JOINTS TO HAVE BOLTS MOUNTED
HEAD-NUT-HEAD-NUT CONSECUTIVELY
A AS ILLUSTRATED

SPRING WASHER FOR I-1/8" DIA.BOLT
ABRASION PLATE

OINT ASSEMBLY

~oa»~§a—-»~|5 J

1

2
3
4
5
6
7
8
9
10
1}

* NOTE
STOCK MUMBER TEM PLAN
NEW  [PW. | NO:|DESCRIPTION *surLan wo”  NUMBER|QTY, THE FOUR TS saxeD %
|| BACK UP PLATE- STEEL (STYLE A} B-1377-2574 2 SHALL BE HARDWOOD TIES.
2 | END POST — PLASTIC B-I1377-179 1
3 | INSULATOR BAR - PLASTIC B-1377-2382 2 ON HEAVY TRAFFIC LINES, THESE FOUR TIES
4 | BACKUP PLATE - STEEL(STYLE B) B-1377-2573 2 MAY BE 9'-0" LONG WHERE AUTHORIZED BY
5 | 1I"DIAOVAL NECK TRACK BOLT X 7" L6. C/W SQ. NUT GTs-1319/4 | & RAL CORRIDORS SENIOR MANAGER OF TRACK AND STRUCTURES
§ | SPRING WASHER FoR "ol BocT freeen | ¢ TIE SPACING NON-CONTINUOUS INSULATED JOINT
( END POST BETWEEN TIES )
NOTES
|.THE ABOVE TIE SPACING SIMILAR FOR 4 AND 6 HOLE BARS.
2.INSULATED RAIL JOINTS TO BE INSTALLED IN ACCORDANCE WITH
STOCK NUMBER |ITEM PLAN RM NO. 3602, LATEST ISSUE .
NEW PN. NO | DESCRIPTION "3u AN No"  [NUMBER | QTY.
| |-BACKUP PLATE- STEEL(STYLE A) 'lZ-;STI-OSll-'; 2
ND POST ~PLASTI 1377-64 I . : _ —
2 e oR Ba S pLasTIC A4 : METRIC CONVERSION: 1 inch=25.4mm, 1 foot=304.8mm
4 | BACKUP PLATE - STEEL(STYLE 8) 12-1377- 0982-5 2
§ | I"DIA OVAL NECK TRACK BOLT X 7" L6. C/W SQ. NUT TSBY4 | 6 1 [18/07/27 ADDED IMPERIAL TO METRIC CONVERSION NOTE
J 6 | SPRING WASHER FOR I*DIA. BOLT 154301 | 6
No. Date Revision By Approved
Standard CONTINUOUS & NON CONTINUOUS
o INSULATED RAIL JOINTS
ir&cx mﬂsa le } DESCRIPTION S Isl“ an JOINT ASSEMBLY - TIE SPACING
|3 2# RE = || BACKUP PLATE-STEEL(STYLEA) |z-|3111-osz|4-; 2
2 | END POST — PLASTIC A 1377- 1
ITENS IAND 4 (BACK-UP PLATES): STYLE A HOLES ARE ROUND-OVAL- ROUND - - 2 Drawn Checked A d
STLE B HOLES ARE OVAL-ROUND-OVAL RA l L | : l’n‘s&L ::?&:‘?:-:%&lscnu B) IZ-?S#%S;,ZS-(; 2 MG GGS pprove VP Engineering & Asset
| S | I-/B*OVAL NECK TRACK BOLT K7-V2°L6. G/W SO NT  GTS-B20/0 | 6 Mandgement
1 6 | SPRING WASHER FOR I-1/8" DIA. BOLT TS-1301 { 6 . ‘
Date Plan Rev
DEC 15, 2017 Nomber  GTS—1205 1
REFERENCE: TS—1205 Sheet 1 OF 1



AutoCAD SHX Text
Date 

AutoCAD SHX Text
Rev

AutoCAD SHX Text
Plan Number 

AutoCAD SHX Text
REFERENCE: 

AutoCAD SHX Text
Sheet 

AutoCAD SHX Text
Drawn 

AutoCAD SHX Text
Approved 

AutoCAD SHX Text
Checked

AutoCAD SHX Text
No. 

AutoCAD SHX Text
Revision

AutoCAD SHX Text
Date 

AutoCAD SHX Text
By Approved

AutoCAD SHX Text
VP Engineering & Asset        Management

AutoCAD SHX Text
Standard 

AutoCAD SHX Text
JOINT ASSEMBLY - TIE SPACING

AutoCAD SHX Text
INSULATED RAIL JOINTS

AutoCAD SHX Text
CONTINUOUS & NON CONTINUOUS

AutoCAD SHX Text
GGS

AutoCAD SHX Text
MG

AutoCAD SHX Text
TS-1205

AutoCAD SHX Text
1 OF 1

AutoCAD SHX Text
DEC 15, 2017

AutoCAD SHX Text
GTS-1205

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
18/07/27

AutoCAD SHX Text
ADDED IMPERIAL TO METRIC CONVERSION NOTE

AutoCAD SHX Text
RAIL CORRIDORS SENIOR MANAGER OF TRACK AND STRUCTURES

AutoCAD SHX Text
METRIC CONVERSION: 1 inch=25.4mm, 1 foot=304.8mm

AutoCAD SHX Text
RM


	Sheets and Views
	Model


